pellpsis
%1

=

®x w %5 #F

(B 4fn 2410818 & 4f1 34€9H30R)

1 BERENDRE

()& #

(2) EHETRTEH

(3) BXFBFIEEA H

(4) BRABRECEA H

EREATE BLEE

O #HH (HERFTHY)

@ =it

@ E&HIETREH
BHMRSMTEKXBE=T B4%405

gk 6 £ 3 A 7H

R 6 &3 A 22 H

() &A
K % 1 z
BERK N F A RNERE EEE
B2 =HE N W F
A= ) & F
RN BB R
B EE ) =




2 EEOHE

(1) AsREH
RPT
RN ERE

PR RT
RS TEKERE=T H4F405

FF AR
TR 0 K

2) YEKFHFENICHERES TRIRUIRIZELICEE

424 118220 4% & EEREORE
AT 3EIANE  4F 3 EEOELHER ONEFEORE
SfMIFEIAIHE £ 3EENEASBEOEEREBOIRE



#(2

AL EREAGER BEE

e HERERTGEKXEE =T H4%E405

) E

H %

( ©%fn 34 98 308 H|AE )

1. &8 E &8 150,088 F M

2. A& & % 64,089 + M

3. #i & E B 85,999 F M
(N_&R) (BfHr - FH)

X 5 & R

A it B & E 16,767
B E & E 133,321
C & E & & (A+B) 150,088
D & & & 3 64,089
E #i & E (C—D) 85,999
+ # (OJEAFE [L&E# RSB IEARTE (SacEm))
g wm ((JEAFE [&E P58z AFTE (BAMICER))




%34

EANE  EREAGE BERE

e BREHFHEAKXEE=ZT B4%405

g F x B =X
( & 34 98 30H EH#E )

(BAF : FH)

& [ » #0 g & ) gl
# B & # &/ B &

I it 8 ' PE 16,767 I & B & & 64,089
I1E © & E 133321 |IE & & & 0
1 AEEEE 103,481 f F & 64,089

2 EEEEEE 147 i & 5 D &

3 XDMOERE 29,692 # B &

1 &5 *x £ 6,000

I&EAXAF K& 0

mFl &% % & & 79,999

W' E S R 85,999

" E & & 150,088 B -MEESE 150,088




42

AL EREAE BES

Pt AR HMATEXKEE=T H4%F40%

8 % & -1 *=
(B $fm24 10A 1B E £% 34 94 30R)

(BA7 : F/@)
& | & 2l
I F ¥ # @&
AXRREBEEXRR
1 F ¥ X #% 41,461
2 F X E A 54,964
ARFEBEEER 13,502
¥ X B K 13,502
0% ¥4 R&® 3,628
mE¥X4%H 0
" ® B K 9,873
IV #& 3 F & 0
V& B B %k 0
B8l BT M B M OB/ X 9,873
% A B % 71
£ i i # x 9,944




